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Mass during a reaction
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In chemical reactions, no atoms can be made or destroyed.

Why doesn’t the mass change?

Chemical reactions just change how the atoms are bonded 
together.

+

+
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What happens to the mass?
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In the reaction between magnesium and oxygen, the mass 
increased.

Why did the mass increase?

This is because the magnesium atoms joined with oxygen 
atoms.

What is the word equation for this reaction?

magnesium oxygen magnesium oxide+

+
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What happens to the mass?
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The mass of the copper carbonate decreased 
as it was heated because it decomposed to 
form copper oxide and carbon dioxide.

Why did the mass decrease?

What is the word equation for this reaction?

Why did the mass decrease?

The mass decreased because the carbon 
dioxide gas escaped out into the air.

Can you calculate the mass 
of carbon dioxide that was 
produced in the reaction?

Presenter Notes
Presentation Notes
Teacher notes
Copper carbonate (CuCO3)  copper oxide (CuO) + carbon dioxide (CO2)
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Chemical reactions – true or false?

Presenter Notes
Presentation Notes
Teacher notes
The answers to questions 1-4 of this true or false quiz are explained in greater detail in Types of Chemical Reactions.
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